
#1 HYDRAULIC RECOIL SHANK ASSEMBLY 

THE MOST ADVANCED SHANK JUMP ACTION MADE 

Recoil mechanism allows both jump and twist action to overcome stubborn obstructions. 

DIAGONAL CLAMP 

Suits 102 mm square toolbar 

High tensile 
clamp bolts 

2,3,4. 
8,9. 

6, 7.

Spring steel side 
plates and control 
arms 

21,22. 

SHANK No. 332 

Ou ick change attachment 

23. 

UNDERFRAME CLEARANCE76cm 

DIGGING ADAPTOR No. 5 

24. 

DU RAB LADE No. 6 

25. 

12. 
HEAVY DUTY HYDRAULIC 

JUMP CYLINDER 

20. 
PIVOTTING SHANK 

CARRIER 

SHANK ASSEMBLY 

AVAi LAB LE FITTED TO AP2 

AND AP4 AGROWPLOWS OR 

SUPPLIED SEPARATELY 

LOWER H. P. REQUIREMENTS- NON INVERSION AND MINIMUM SOIL DISTURBANCE. 



EARLY MODEL HYDRAULIC SHANK ASSEMBLY.

EARLY HYD SHANK ASSY. KNOCK IN STYLE. 120-0001

ITEM #. DESCRIPTION QUANTITY PART NUMBER

1 CLAMP PLATE 1 002-3003

2 BOLT 3/4" X 2 1/2" UNC. 4 133-3060

3 WASHER SPRING 3/4" 4 135-0090

4 NUT 3/4" UNC 4 134-1020

5 RECOIL PIVOT CLAMP 1 005-1002

6 PIVOT PIN 1 005-4011

7 ROLL PINS 2 140-1015

8 CONTROL ARM PIN 1 140-4032

9 ROLL PINS 2 140-1015

10,&13 CYLINDER PINS 2 140-0004

11 & 14 CAT II LYNCH PINS 2 140-0039

12 JUMP CYLINDER 1 153-4200

12A POPPET VALVE 1 154-4260

12B CYLINDER NIPPLE 1 154-0019

15 CYLINDER YOKE 1 005-3004

16 & 18 SHOULDER BOLTS 2 133-4030

17 & 19 7/8" HALF NUTS 4 134-1600

17&19 B 1" INDUSTRIAL WASHERS 4 135-1050

20 PIVOTING SHANK CARRIER 1 002-3002

21 SIDE PLATES 2 107-3053

22 CONTROL ARMS 2 125-3052

23 #332 24"  KNOCK IN SHANK 1 121-1004

23A 21" & 27" SHANKS AS ALTERNATIVE 121-1001 OR 121-1002

24 #5 ADAPTOR 1 122-3003

25 # 6A BLADE TUNGSTEN TIPPED 1 122-0062

26 Jump cylinder hose (not illustrated) 1 005-4020

27 RECOIL BUSH 1 005-3002

OPTIONAL POINTS
# 6A BLADE HARDFACED. 122-0061

# 6A BLADE PLAIN 122-2029

#2 ADAPTOR to convert to the new style point 122-2018

AP3 BLADES FOR USE WITH #2 ADAPTOR PLAIN 122-2001

TUNGSTEN TIPPED 122-0033

HARDFACED 122-0035


	120-001 Early Hydraulic Shank Assembly Pic
	120-001 Early Hydraulic Shank Assembly Parts List

